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Question Number : 1 Question Id : 1626532030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the figure that is different from the other three.
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Question Number : 1 Question Id : 1626532030 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 2 Question Id : 1626532031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the figure given below, the triangle represents basketball players. rectangle represents men and the circle represents hip-
hop dancers. Select the letter that represents male basketball players who are hip-hop dancers as well.

Question Number : 2 Question Id : 1626532031 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 3 Question Id : 1626532032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 3 Question Id : 1626532032 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Venn diagram given below shows the favourite breakfast items of children of a school. The triangle represents children
who like idli, rectangle represents children who like poori-sabzi and the circle represents children who like sandwich. How
many children like only one of the given breakfast items?

Options:
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Question Number : 4 Question Id : 1626532033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the total number of triangles in the given figure?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 26
5. B2
= 24

4, 28

Question Number : 4 Question Id : 1626532033 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.



Options:
1 26

o D
5 24

4 28

Question Number : 5 Question Id : 1626532034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the correct mirror image of the given figure when a mirror is placed as shown below.

mirror

Options:

o of

Q00



Question Number : 5 Question Id : 1626532034 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 6 Question Id : 1626532035 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the Venn diagram that correctly represents the classes below.

Music, Classical Music, Camatic Music

Options:
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)

. O

Question Number : 6 Question Id : 1626532035 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 7 Question Id : 1626532036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mohini went from her school to her dance class. First, she went 2 km towards East. Then she went 4 km towards right.
From there, she turned left and went another 2 km to reach the music class. To which direction is the school located with
respect to Mohini’s music class?

Options:
1 % South-east
- % North-east

3 o North-west

4 % South-west



Question Number : 7 Question Id : 1626532036 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 1626532037 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Showing a photograph of a girl, Ram Kumar said, “This girl is my mother’s father-in-law’s daughter’s only brother’s
daughter.”

How is the girl in the photograph related to Ram Kumar?

Options:
1 % Mother

> o Sister
3 % Niece

4 % Cousin

Question Number : 8 Question Id : 1626532037 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 1626532038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Brinda says to Gopika. “I am my brother’s only sister. Your brother’s mother-in-law is my brother’s wife’s mother-in-law.”

How is Gopika’s brother related to Brinda?
Options:
1 % Brother

- % Son
3 « Husband

4 % Brother-in-law

Question Number : 9 Question Id : 1626532038 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 10 Question Id : 1626532039 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



This question comprises two statements labelled I and IT and two conclusions labelled I and IT. Assume that the information
provided is true even if it appears at variance from commonly known facts. Read the statements and decide if anv of the
conclusions logically and definitely follow from the statements.

Statement I: Some fingers are hands.

Statement IT: All hands are legs.

Conclusion I: Some hands are fingers.
Conclusion II: Some legs are hands.
Options:

, » Only conclusion I follows.

> % Only conclusion II follows.

=z % Neither conclusion follows.

4 + Both the conclusions follow.

Question Number : 10 Question Id : 1626532039 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 1626532040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
This question comprises two statements labelled I and IT and two conclusions labelled I and IT. Assume that the information
provided is true even if it appearance at variance from commonly known facts. Read the statements and decide if anv of the
conclusions logically and definitely follow from the statements.

Statement I: All books are notepads.

Statement II: Some notepads are slates.

Conclusion I: Some notepads are books.

Conclusion II: Some slates are books.
Options:
. « Only conclusion I follows.

- % Only conclusion II follows.

% % Neither conclusion follows.

4 % DBoth the conclusions follow.

Question Number : 11 Question Id : 1626532040 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 12 Question Id : 1626532041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that is related to the third term in the same way as the second term 1is related to the first term.

Cruel : Kind : : Flexible : 7
Options:
Lo Rigid

Adjustable

[
5

Adaptable

4 % Resilient

Question Number : 12 Question Id : 1626532041 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Cruel : Kind : ; Flexible : ?
Options:

. « Rigid

> » Adjustable

- » Adaptable

4 % Resilient

Question Number : 13 Question Id : 1626532042 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the term that is related to the third term in the same way as the second term is related to the first term.

Knowledge : Ignorance : : Money : ?

Options:



. w Prosperity
- % Abundance
5  Penury

4 = Placidity

Question Number : 13 Question Id : 1626532042 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Knowledge : Ignorance : : Money : ?
Options:

, = Prosperity

> # Abundance

-  Penury

4 » Placidity

Question Number : 14 Question Id : 1626532043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the sign “*" is interchanged with *+ and ‘" is interchanged with ‘+°, then what will be the value of the expression below?

143 x 11 +-5-6+35
Options:
1 ® 61

Question Number : 14 Question Id : 1626532043 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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143 x 11 +5-6 +5
Options:

1 = 51
> R ?6
3« 66

g ® 54

Question Number : 15 Question Id : 1626532044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that will fill in the blank and complete the given series correctly.

.24 .11, 16,2235,

Options:
1 ® 35

Question Number : 15 Question Id : 1626532044 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 ® 35
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Question Number : 16 Question Id : 1626532045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five friends are sitting in a row watching a movie. Manish is sitting at one of the ends. Gautam is sitting to Prakash’s
immediate left. Dheeraj has only one neighbour. Chetan is sitting next to neither Manish nor Gautam. Who among them has
2 friends sitting to his right and 2 to his left?

Options:
1 ® Gautam

- % Chetan
3 « Prakash

4 % Either Gautam or Manish

Question Number : 16 Question Id : 1626532045 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 17 Question Id : 1626532046 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Vitthal bought some bananas and milk. Three-fourth dozen bananas cost as much as 2/3% fitre milk. If 3 litre milk costs
< 162, what is the amount spent by Vitthal on buying 5 dozen bananas and 4 litre milk?

Options:
; % T396

> o T456



s % T512

4 % T484

Question Number : 17 Question Id : 1626532046 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% T 396
. v T 456
2 % T 512

. % T 484

Question Number : 18 Question Id : 1626532047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The sum of 2 consecutive odd numbers is 56. What is the product of the two numbers?

Options:
, % 899
5 % 675

4 ® 729

Question Number : 18 Question Id : 1626532047 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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. % B75
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L % 729

Question Number : 19 Question Id : 1626532048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option that does not belong to the group given below.

Bear, Lion, Wolf, Deer, Fox, Leopard. Jaguar

Options:
| % Jaguar

o o Deer
=z % FOxX

4 % Lion

Question Number : 19 Question Id : 1626532048 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 1626532049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Palak is taller than Shivani. Bhavani is taller than Shivani but not as tall as Tanaji. Palak is not as tall as Tanaji. Shivani is
taller than Govind. Who is the tallest in the group?

Options:
1 % Palak



> % Shivani

-  lanaji

4 % Bhavani

Question Number : 20 Question Id : 1626532049 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Gerneral Awarensss

Group Number : 2

Group Id : 162653102

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awarernsss

Section Id : 162653102
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section 1d: 162653133
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 1626532050 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When was the National Development Council constituted?

Options:
. % 10M January 1952

2274 April 1952
8™ fuly 1952

6W August 1952

Question Number : 21 Question Id : 1626532050 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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5 % 22 3T 1952
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Question Number : 22 Question Id : 1626532051 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following companies is NOT a Maharatna company?

Options:
1 + Bharat Electronics Limited

- % NTPC Limited



3z % GAIL India Limited

, = Bharat Petroleum Corporation Limited

Question Number : 22 Question Id : 1626532051 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 23 Question Id : 1626532052 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

On 16 October 2017, in which of the following districts was the Zero Hunger Programme launched?
Options:
. Porbandar, Gujarat

DR

- u Alwar, Rajasthan

-  Koraput. Odisha

4, = Jalpaiguri, West Bengal

Question Number : 23 Question Id : 1626532052 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 1626532053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In which of the following layers of atmosphere is the ozone layer concentrated?
Options:

| Stratosphere

» # Iroposphere

s w Mesosphere

4 = Thermosphere

Question Number : 24 Question Id : 1626532053 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 1626532054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following mountains is the volcano Cotopaxi situated?

Options:
| % Mount Kenya

> o Andes Mountain



= » Mount Kilimanjaro

4 = Fuji mountain

Question Number : 25 Question Id : 1626532054 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 26 Question Id : 1626532055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the Khardung L.a mountain pass situated?

Options:
1 % Himachal Pradesh

- #% Arunachal Pradesh
= % Sikkim

4 + Jammu and Kashmir

Question Number : 26 Question Id : 1626532055 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 1626532056 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following was NOT produced by Harappans?

Options:
1 % Wheat

» u DBarley

=z % Peas

4 « Gram

Question Number : 27 Question Id : 1626532056 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 28 Question Id : 1626532057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who was the founder of the Tughlag Dynasty?
Options:

, % Muhammad bin Tughlaq

-  Ghiyasuddin Tughlag



- u Firuz Shah Tughlaq

4 = Tughlag Khan

Question Number : 28 Question Id : 1626532057 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 29 Question Id : 1626532058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

During which of the following governor general’s period were the universities in Calcutta, Madras and Bombay established
in 18577
Options:

, = Lord Hardinge

5 # Lord Ellenborough

5  Lord Canning

4 % Lord Dalhousie

Question Number : 29 Question Id : 1626532058 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 1626532059 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The constitutional provision of Procedure of Constitutional Amendment has been borrowed from which of the following
countries?

Options:

] ® Germany

> % Ireland
3 « South Africa

4 % Australia

Question Number : 30 Question Id : 1626532059 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 31 Question Id : 1626532060 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following years was the 50t Constitutional Amendment Act added to the Constitution of India?

Options:
1 % 1980



> % 1982
3 « 1984

4 % 1985

Question Number : 31 Question Id : 1626532060 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aET ofure # 5091 ofurs meitus yefaTy Tl F § 5w v & onfée &ar mr o
Options:

% 1980
. % 1982
5 v 1984

. % 1985

Question Number : 32 Question Id : 1626532061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

‘Which of the following options is NOT mentioned in the Concurrent List?
Options:

1 % Criminal Law

- = Electricity

5 u Archaeological Sites

4  Agriculture

Question Number : 32 Question Id : 1626532061 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

.« G5 R
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Question Number : 33 Question Id : 1626532062 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In India, the frequency of alternating current is Hertz.
Options:

1o

LA

0
> % 100

s % 150

Question Number : 33 Question Id : 1626532062 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
9RE H, Tearad! uRT () # gted gt B

Options:

. v 50
. % 100
- % 150

L # 240

Question Number : 34 Question Id : 1626532063 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A candle of height 15 cm is placed in front of a plane mirror. The height of the image formed will be

Options:
1 % S5cm

> % 1/5cm

= o 15cm



Question Number : 34 Question Id : 1626532063 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T GATH 90T & T@HA 15 cm H AHadr T A1dr g1 599 547 ofF T Farg grem|
Options:

1 % D cm

> % 1/5 cm
2 « 15 cm

4 % 35 cm

Question Number : 35 Question Id : 1626532064 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The national register of citizens-a document that registers the names of all citizens living within the geographical boundaries
of a state-is published in which of the following states?

Options:
1 Manipur

-~ » Nagaland

=« Assam

4 % Mizoram

Question Number : 35 Question Id : 1626532064 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 36 Question Id : 1626532065 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following countries is not a member of the BRICS organisation?

Options:
1 % China

- % Russia
=z % South Africa

4 « Japan

Question Number : 36 Question Id : 1626532065 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 37 Question Id : 1626532066 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following states is the festival ‘Bommala Koluvu’ celebrated?

Options:
1 % Sikkim

- u Chhattisgarh

- % Jharkhand

4 + Tamil Nadu



Question Number : 37 Question Id : 1626532066 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 38 Question Id : 1626532067 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
On which of the following dates is the World Ozone Day celebrated?

Options:
, % 10% July

st August

o o 16™ September

4 % 3% October

Question Number : 38 Question Id : 1626532067 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

feg 31w feaw Fw ol &r #amar JEr 82
Options:

. 10 oS

1.

L w3 HEE F



Question Number : 39 Question Id : 1626532068 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In which of the following years was the FIFA World Cup NOT held?

Options:
;% 1930

> % 1934
3 % 1938

4 o 1942

Question Number : 39 Question Id : 1626532068 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e # ¥ 555 99 & $ror @93 &9 &7 33 Jgr &har 71ar a1?
Options:

. % 1930

. % 1934
5 % 1938

L v 1942

Question Number : 40 Question Id : 1626532069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wimbledon Championship is famous for which of the following sports events?

Options:
1 % Table tennis
> « Lawn tennis

%z % Badminton

4 # Cricket

Question Number : 40 Question Id : 1626532069 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Arithmetic Ability

Group Number : 3
Group Id: 162653103
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 162653103

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 19

Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653134
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 1626532070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(1.6 +(3.8)* —(4.4)® + 2.8 x3.8x 4.4
256 +(26)% + (44)° — 16 X 32 + 38 x 44 + 44 x 15

The value of



Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1. 0.1

5 0.01
s 0.001

4 0.0001

Question Number : 41 Question Id : 1626532070 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(1.6)% +(2.87 - (24 +42x3.8x44
256 +{26)° + (441% — 16 X 38 + 38 X 44 + 44 2 16

FT AT &

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

, 0.1
, 0.01
- 0.001

., 0.0001

Question Number : 42 Question Id : 1626532071 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The unit digit of (43)'® + (32)* — (27)** is:
Options:

1. % 0

P2
g{
I

Question Number : 42 Question Id : 1626532071 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



(43)% + (32)1¢ — (27)* T S&IE 3F ¢
Options:

1_-&6&0

4o 8

Question Number : 43 Question Id : 1626532072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
5+243

If = — g+ by3, then (a+b) is equal to:

7 +44/3

Options:

1. % 2

Question Number : 43 Question Id : 1626532072 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

iy 2228 _ L i by3 @ & (a+b) FE W 2

7+443

Options:
1. ¢ D

> R -11
o R 15

g4 ® 1?

Question Number : 44 Question Id : 1626532073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of (52)%° — (33)% + (17)%* is:
Options:



Question Number : 44 Question Id : 1626532073 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(52)2° — (33)% + (17)** &T HT fass et 272
Options:

1. o 4

Question Number : 45 Question Id : 1626532074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the sum of the digits of the least number which, when divided by 8, 12, 15 and 18, leaves remainder 5 in each case
and is divisible by 7?

Options:

1_«:»19

Question Number : 45 Question Id : 1626532074 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
30 FUAGH TEAT F I & e F47 § = 8, 12, 15 3R 18 IR e v 9w W geiw
HIEAT H 5 A9 g g A 7 @ Ui Renfee & Jer 82

Options:

1_-5&9




o R 12
3« 14

4 ® 16

Question Number : 46 Question Id : 1626532075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average of 25 numbers is 46. Out of them, the average of the first 13 numbers is 44, and the average of the last 13
numbers is 49. If the middle number is excluded. what is the average of the remaining numbers correct to one decimal
place?

Options:
1 % 44:8

Question Number : 46 Question Id : 1626532075 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

25 THEATHT &7 AET 46 g1 SaH ¥, Igair 13 FEATHT & AT 44 & 3T 307 13 gt & #Aeg
49 21 IfE A= TEAT F 6T 7 AT F1aT § ar I¥ FEIATHT FT AHET, TF IHAT TAF d, F4T 27
Options:

, % 44.8
. v 455
- % 43.64

. % 46.8

Question Number : 47 Question Id : 1626532076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

F R 3 % . . A i
Three numbers are in the ratio S and sum of their squares is 4,221, What is the sum of digits of the largest number?

Options:
1 ® 6



Question Number : 47 Question Id : 1626532076 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3
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5

Options:

1 * 5
2.« 9
= ® -12

g ® -14

Question Number : 48 Question Id : 1626532077 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A vessel contains 3.5 L mixture of acid and water in the ratio 2 : 5. From this mixture, 700 mL of the solution is taken out
and replaced by same quantity of water. What is the ratio of acid and water in the new solution?

Options:
1 o 8127

> % 10:29
5 % 11:32

4 % 4:11

Question Number : 48 Question Id : 1626532077 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o a0 & 3.5 L vfis 3t ol &1 fEsor 2 0 5 & e #F &1 59 e # @ 700 mL o #
e o s § 3R s & wr & 9l @ seo fewm Smar @ & Av uw # ofdw ik g #= v
HATT FAT 82

Options:

L@ 827



, % 10 : 29
2% 11 : 32

Lw 41

Question Number : 49 Question Id : 1626532078 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a school, there are 280 students. Each opted for Mathematics, Biology or both. If 80% opted for Mathematics and 70%
Biology, how many students opted for both these subjects?

Options:
1« 140

5 % 180

Question Number : 49 Question Id : 1626532078 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ot T & 280 ©F & Ss OF # A0 TN FSEAR A A F oA A 7y 80% F wfoe
F T8 BT 3 70% 7 AEEEa F I Bar § O S Rt = 3o e o F Fare

Options:

v 140
- » 180
2 % 224

. % 196

Question Number : 50 Question Id : 1626532079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A person purchased an article at ; of its marked price and sold it for 20% more than the marked price. What is his gain
percentage correct to one decimal place?

Options:
1 o 21.4%



4 % 28.6%

Question Number : 50 Question Id : 1626532079 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
wz&ﬁqﬁaﬁéa&rmﬁﬁﬁﬂaw#%qmﬁrgﬁﬁ%ﬂﬁwﬁm%mqém|
SAHT o Fiaed, UF SHTT T d, fahdar 27

Options:

L@ 21.4%
> » 21.8%
s % 22.2%

. % 28.6%

Question Number : 51 Question Id : 1626532080 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The marked price of two articles A and B are in the ratio 5 : 2. The shopkeeper gives 26% discount on A. If the total
discount on both is 30%. what is the discount offered on article B?

Options:
| ® 36%

> % 38%

3 v 40%

Question Number : 51 Question Id : 1626532080 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ar Egat A 3 B #r Riffae g &1 3aa 50 2 F §) §FER A W 26% @ g & g1 IfE A=t
W FA e 30% § a B W wEATAT O F4 g7

Options:

, % 36%



- % 38%
s v 40%

4 % 42%

Question Number : 52 Question Id : 1626532081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A sum of T 16.000 is invested at 10% per annum. compounded half yearly. for 15 months. What is percentage increase in
the sum?

Options:

1 % 11.8%

Question Number : 52 Question Id : 1626532081 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
% 16,000 Fr [, 10% 1T X W, HIAHF HUR T THgI& o0 R, 15 Ag F faw g
S g1 3EE 3 7 gfaea 3 GRaer §

Options:

L % 11.8%
> % 12.6%
2 v 13%

L % 13.2%

Question Number : 53 Question Id : 1626532082 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a circle of radius 15 cm, a chord subtends an angle of 120° at the centre. What is the area of the corresponding major

segment of the circle, in cm?, correct to one decimal place? (1 =3.14)
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:



; 138.1 cm?®
> 185.6 cm?
5 210.8 cm?

4 235.5cm’

Question Number : 53 Question Id : 1626532082 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

R 15 cm Br=ar I 307 F wF =3, FF T 120° F FHT FAST 2| Iod F TEOT TS H ST cm?
H, T GUHEd FAE o, F4T g7 (1 = 3.14 & I9AET F:Y)

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

, 138.1 cm?
» 185.6 cm?
- 210.8 cm?

4 2355 cm?

Question Number : 54 Question Id : 1626532083 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A cone of radius 8 cm is divided into two parts by drawing a plane through mid-point of its axis and parallel to its base.
‘What is the ratio of the value of resulting cone and frustum of the cone?

Options:
1 ® 1.2

W
%
=t
g |

Question Number : 54 Question Id : 1626532083 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 1:2
> % 1:4
2o 137
4% 1:8

Question Number : 55 Question Id : 1626532084 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The efficiency of A and B is in the ratio 3 : 5. If A takes 32 hours more than B to finish a work. in how many hours will
both working together complete that work?

Options:
1 % 25hours

> « 30 hours
=z % 34 hours

4 % 35 hours

Question Number : 55 Question Id : 1626532084 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A B3 :5% 3ud H 33 ¢ IE A 5l % & U A A, B ¥ 32 9T A& var ¢ A 7 g
TF WY A W 3W FH # A 9 # W W T 87

Options:

, % 25 ©¢
> 30 U
- % 34 @

4 % 35 ©E

Question Number : 56 Question Id : 1626532085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Two pipes A and B can fill a tank in 75 minutes and 90 minutes respectively. Both pipes are opened together, but after 24
minutes, pipe A is closed. What is the total time required to fill the tank in minutes?

Options:
1 « 42 minutes

- % 45 minutes
= % 48 minutes

4 % 52 minutes

Question Number : 56 Question Id : 1626532085 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A 3T B, 2 9T FH: 75 e 3K 90 fee # wF ¥ 7 T et 2 B 9T U 91y I I
g g 24 = & a1g, 739 A &t ag w1 fow I 71 &F # e & O gw s e a, e A
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Options:

v 42 T
., » 45 fAee
2 48 e

4 % 52 fae

Question Number : 57 Question Id : 1626532086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a train runs at 40 km/h, it reaches its destination late by 15 minutes. But if it runs at 50 km/h. it reaches 10 minutes before
time. What is the correct time to cover its journey in minutes?

Options:
1 % 90 minutes
- % 100 minutes

3 « 110 minutes

4 % 120 minutes

Question Number : 57 Question Id : 1626532086 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

% 90 fA=e

> = 100 fere
-« 110 fiere

L % 120 e

Question Number : 58 Question Id : 1626532087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Two trains, one from A to B and the other from B to A, start simultaneously. After meeting on the way, the trains reach their
destinations after 1.2 hours and 2.7 hours respectively. If the speed of train A is 60 km/h, What is the speed of the train
starting from B in km/h?

Options:
1 o 40 km/h

> % 45 km/h
z % 60 km/h

4 % 90 km/h

Question Number : 58 Question Id : 1626532087 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3 &, T, A B B #T I Fe & AT AR gEd B ¥ A & [T, w1y Oy 9w g g 15 F e &
91g, ¢ HAT: 1.2 g¢ X 2.7 a—&mmﬁaidcq‘imngm%ruﬁa?mqﬁrmﬁrsoﬁaﬂm%,
ar B #r oty frae SeEer &2

Options:

|« 40 e

> » 45 TR
> » 60 fre/eer

4 % 90 Trev/eer



Sub-Section Number: 2
Sub-Section I1d: 162653135
Question Shuffling Allowed : Yes

Question Id : 1626532088 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Juestion Label - Comprehension

The following table gives the weight of tea in 160
packets.

Weight
{in 200-210 | 210-220 | 220-230 | 230-240 | 240-250 | 250-260
grams)
Moof |24
packets

L
=

36 20 12 12

Read the table and answer the following questions

Sub questions

Question Number : 59 Question Id : 1626532089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the mean weight in grams of packets
correct to one decimal place?
Options:
| » 218.8 gm

2234 gm
228.6 gm

2325 gm

Question Number : 60 Question Id : 1626532090 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If the data is represented as pie chart. what is the
central angle of the sector representing the number
of packets in the interval 220-230, correct to the
nearest degree?

Options:
1. * 16



4.;_;-"51

Question Id : 1626532088 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cesticn Label | Comprehension

160 Yerel & =TT T a7 A= difeerT & 2T 71T 2

CrE ) 200- | 210- | 220- | 230- | 240- | 250-
(IMH H) 210 | 220 | 230 | 240 | 250 | 260
Yekat &r 26 54 36 20 12 12
HET

arfereT & ¢ 3t Fafer@T geat &1 337 &)

Sub questions

Question Number : 59 Question Id : 1626532089 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

et FT T JHET T99, TF uHET T
%, TH H BhdeT 87

Options:
. % 218.8 TH

o v 2234 TH
- % 228.6 TMH

. % 2325 TH

Question Number : 60 Question Id : 1626532090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e 22T FI 915 IE & T H T 17 g ar
220-230 Aufr # 9T S 9o Jaed
FT Farg For, Twean B 7 Far B2

Options:




1 = 15

o & 45
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eneral English

Group Number : 4

Group Id: 162653104

Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit?: No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

eneral English

Section Id : 162653104
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 16
Number of Questionsto be attempted: 16
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section I1d: 162653136
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 1626532091 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I my camera in Surat while getting down the train as there was too much of a rush.

Options:



1 % Lose
o « Lost

5 % amlosing

4 % have lost

Question Number : 61 Question Id : 1626532091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

I my camera in Surat while getting down the train as there was too much of a rush.

Options:
1 % Lose

- « Lost

5 % amlosing

4 % have lost

Question Number : 62 Question Id : 1626532092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

When I at your bookshelf, I found that vou have a copy of “Seven Years in Tibet’.

Options:
1 % Look

-~ % amlooking

- » Wwas looking

4 + had looked

Question Number : 62 Question Id : 1626532092 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

When I at your bookshelf, I found that vou have a copy of *Seven Years in Tibet'.
Options:
1 # Look

- » amlooking

5 = Wwas looking

4 + had looked

Question Number : 63 Question Id : 1626532093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

you stand first in the poetry recitation, we will celebrate in the evening.” I told my granddaughter.
Options:
1 % Evenif

o oo If
z % Whether

4 % Unless

Question Number : 63 Question Id : 1626532093 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

you stand first in the poetry recitation, we will celebrate in the evening.” I told my granddaughter.
Options:
1 % Evenif

2.\3;-"1]?

%z % Whether



4 % Unless

Question Number : 64 Question Id : 1626532094 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The victory of Ibrahim Solih, in the just concluded presidential elections in the Maldives. shows that all the fears,
the democratic instinct of this small islandis alive and well.

Options:
| « Despite

> % incase

=z % because of

4 % asaresult of

Question Number : 64 Question Id : 1626532094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The victory of Ibrahim Solih, in the just concluded presidential elections in the Maldives, shows that all the fears,
the democratic instinct of this small islandis alive and well.

Options:

. « Despite

- % incase
= % because of

4 % asaresult of

Question Number : 65 Question Id : 1626532095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Water levels rivers rose across the North India the level in Pong Dam nearing danger mark.
Options:

1 ® tﬂ;h}r



- u of;to
2 o in ; with

4 % at ; from

Question Number : 65 Question Id : 1626532095 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Water levels rivers rose across the North India the level in Pong Dam nearing danger mark.
Options:
1 ® to ] h:"r

5 % of ; to
5 i with

4 % at ; from

Question Number : 66 Question Id : 1626532096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Both the Heads of the States agreed work together strengthen relations the two countries.
Options:
, = to:for;among

5 1010 between
= ® for;to;in

4 % with ; for ; of

Question Number : 66 Question Id : 1626532096 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate option to fill in the blank.

Both the Heads of the States agreed work together strengthen relations the two countries.
Options:
, = to:for;among

5  to:to; between

5 w forito;in

4 R with ; for ; of

Question Number : 67 Question Id : 1626532097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The death rate is the highest since the migration crisis of 2015. One out of every 18 people attempting the passage through
the sea has

Options:
1 % sunk

> o Drowned
z % succeeded

4 % floated

Question Number : 67 Question Id : 1626532097 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

The death rate is the highest since the migration crisis of 2015. One out of every 18 people attempting the passage through
the sea has

Options:
1 % sunk

> « Drowned

= % succeeded



4 % floated

Question Number : 68 Question Id : 1626532098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Authorities in the northern African country are catching more and more traffickers who take money to refugees to
Europe.

Options:
, = intercept

> % Surveillance
5 o Smuggle

4 % enter

Question Number : 68 Question Id : 1626532098 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate option to fill in the blank.

Authorities in the northern African country are catching more and more traffickers who take money to refugees to
Europe.

Options:
1 ® mtercept

- % Surveillance

5 o Smuggle

4 ® enter

Question Number : 69 Question Id : 1626532099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

HOWEVER
Options:
1 % DBecause



o B If
= % 50

4 o But

Question Number : 69 Question Id : 1626532099 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

HOWEVER
Options:
1 % DBecause

IR So

4 But

Question Number : 70 Question Id : 1626532100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate synonym of the given word.

AVERT
Options:
1 % Continue

o « Prevent

5 % persist

4 % maintain

Question Number : 70 Question Id : 1626532100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Select the most appropriate synonym of the given word.

AVERT
Options:
1 % Continue

o> « Prevent

5 ® persist

4 % maintain

Question Number : 71 Question Id : 1626532101 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate antonym of the given word.

SERENE
Options:
, » Composed

- % Peaceful
z % Calm

4 o Agitated

Question Number : 71 Question Id : 1626532101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the most appropriate antonym of the given word.

SERENE
Options:
, = Composed

> % Peaceful

3 % Calm



4 o Agitated

Question Number : 72 Question Id : 1626532102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option which is NOT an antonym of another word by way of adding the prefix ‘im-’

Options:
1 « Immersion

- % imperishable

- u Impartial

4 % Immovable

Question Number : 72 Question Id : 1626532102 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Select the option which is NOT an antonym of another word by way of adding the prefix ‘im-’

Options:
1 +« Immersion

- u imperishable

- » lmpartial

4 % Immovable

Question Number : 73 Question Id : 1626532103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange parts of the sentence in meaningful and grammatically correct order.

A. international solo circumnavigation Golden Globe Race.
B. while representing India in the

C. Indian Navy Commander Abhilash Tomy

D. was rescued by a French vessel Osiris

E. three days after he suffered a serious back injury

Options:



, ® EDBAC
> » ECDBA
- % EACDB

4 v EBACD

Question Number : 73 Question Id : 1626532103 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Arrange parts of the sentence in meaningful and grammatically correct order.

A. international solo circumnavigation Golden Globe Race,
B. while representing India in the

C. Indian Navy Commander Abhilash Tomy

D. was rescued by a French vessel Osiris

E. three days after he suffered a serious back injury

Options:
;. % EDBAC

> » ECDBA
- % EACDB

4 v EBACD

Question Number : 74 Question Id : 1626532104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

The fundamentalists and conservative men of Pakistan are against Malala and have organized hate campaigns on the internet
because they believe that women does not need education and should maintain their traditional role in the household.

Options:
| = are against

- w have organized

= % on the internet



4 « does not need

Question Number : 74 Question Id : 1626532104 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following sentence four words/phrases have been underlined. One of them is incorrect. Choose the incorrect
word/phrase from the given options.

The fundamentalists and conservative men of Pakistan are against Malala and have organized hate campaigns on the internet
because they believe that women does not need education and should maintain their traditional role in the household.

Options:
| % are against

- = have organized

% % on the internet

4 « does not need

Question Number : 75 Question Id : 1626532105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

From the options given below choose the sentence that is not correct.
Options:

, = Australia attracts hundreds of thousands of immigrants every year.

o ®
In the last two decades most of Australia’s newcomers have come from India, China, Great Britain and the Philippines.

=  loday. over one third of Australia’s population were not born in the country.

4 %
The Bureau of Statistics estimates that Australia will add another million to its population in three years time.

Question Number : 75 Question Id : 1626532105 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

From the options given below choose the sentence that is not correct.
Options:

. w Australia attracts hundreds of thousands of immigrants every year.

o> &
In the last two decades most of Australia’s newcomers have come from India, China, Great Britain and the Philippines.



5  loday. over one third of Australia’s population were not born in the country.

4 %
The Bureau of Statistics estimates that Australia will add another million to its population in three years time.

Sub-Section Number: 2
Sub-Section 1d: 162653137
Question Shuffling Allowed : Yes

Question Id : 1626532106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following passage and answer the questions
given after it.

Happiness has come to be accepted as a goal of public
policy. And this discourse has given a fillip to a new
narrative where the interconnections between law,
governance and happiness are being searched. Why do
these connections matter? Experiences from several
nations confirm that the countries with higher GDP and
higher per capita income are not necessarily the happiest
countries and there exists a link between the state of
happiness and rule of law.

The World Happiness Report (WHR) 2018, which
ranked 156 countries, placed India at the 133rd place on
the index of global happiness. While India’s
performance on this can be attributed to several factors,
there’s no denying the fact that there is an intrinsic
relationship between law and people’s happiness. The
WHRs, over the years. confirmed that people tend to
have poor mental health, a low score of subjective well-
being and poor perception about the governance and law
and order, despite high income levels.

The curious question in this discourse is how the law is
linked with happiness. In an environment in which laws
are gradually becoming reactive, regulatory and
penalising. this question needs some probing.

Jeremy Bentham said the object of the law should be the
maximum happiness of the maximum number. Going by
popular perceptions, laws and legal regimes are the
distributors of unhappiness in many ways. We have
about 3.3 crore cases pending in various courts in the
country. How does unhappiness emanate from these
cases? Each case is not a mere number — it involves
tension, anxiety and deprivation to all those associated
with it. A group of people — family members, relatives.
friends and others of the parties involved — are
necessarily affected because of such cases. If we
presume that there are about 20 persons in each case
belonging to one or the other parties. we get a number of
about 64 crore. Interestingly, none of them would be in a
state of happiness on account of being linked to the
case. Inevitably. the criminal justice administration for
these people is a source of unhappiness.

Moreover, not more than 30 per cent people approach
the courts in India. There is a visible decline in civil
litigation, which suggests that a large number of people
in the country are living with unresolved conflicts. This
too dents the state of happiness in general.



Sub questions

Question Number : 76 Question Id : 1626532107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After reading this passage it can be inferred that this
passage is:

Options:

1 % Sarcastic

-  argumentative

= % Emotional

4 % Dogmatic

Question Number : 77 Question Id : 1626532108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author is trying to prove that:
Options:
laws in our country are becoming more regulatory
, w and penalizing.

many people in India abstain from going to courts.

law of the rule does not affect happiness of the
people.

there is a relationship between law. governance and
4 « happiness.

Question Number : 78 Question Id : 1626532109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the words with their meaning.

a. emanate 1. discussion
b. deprivation 2. spring
¢. discourse 3. denial

Options:



a-2, b-1. ¢-3

=
®

5 o 82, b-3. ¢-1

a-3, b-1.¢-2

M
®

a-1, b-3, ¢-2

o
®

Question Number : 79 Question Id : 1626532110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the effect of pending court cases on people
in India?
Options:
, = People are not bothered about them.

> u People blame each other for such cases.

- » People fight with each other.

4  People get tension and anxiety.

Question Number : 80 Question Id : 1626532111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement is NOT true according to the
passage?
Options:

We have about 3.3 crore cases pending in various
, % courts in the country.

Each case involves tension, anxiety and deprivation
- % to all those associated with it.

More than 30 per cent people approach the courts in
% « India.

The World Happiness Report (WHR) 2018, has
placed India at the 133rd place on the index of

4 % global happiness out of 156 countries.



Question Id : 1626532106 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Read the following passage and answer the questions
given after it.

Happiness has come to be accepted as a goal of public
policy. And this discourse has given a fillip to a new
narrative where the interconnections between law,
governance and happiness are being searched. Why do
these connections matter? Experiences from several
nations confirm that the countries with higher GDP and
higher per capita income are not necessarily the happiest
countries and there exists a link between the state of
happiness and rule of law.

The World Happiness Report (WHR) 2018, which
ranked 156 countries, placed India at the 133rd place on
the index of global happiness. While India’s
performance on this can be attributed to several factors,
there’s no denying the fact that there is an intrinsic
relationship between law and people’s happiness. The
WHRs, over the years. confirmed that people tend to
have poor mental health, a low score of subjective well-
being and poor perception about the governance and law
and order, despite high income levels.

The curious question in this discourse is how the law is
linked with happiness. In an environment in which laws
are gradually becoming reactive, regulatory and
penalising. this question needs some probing.

Jeremy Bentham said the object of the law should be the
maximum happiness of the maximum number. Going by
popular perceptions, laws and legal regimes are the
distributors of unhappiness in many ways. We have
about 3.3 crore cases pending in various courts in the
country. How does unhappiness emanate from these
cases? Each case is not a mere number — it involves
tension, anxiety and deprivation to all those associated
with it. A group of people — family members, relatives.
friends and others of the parties involved — are
necessarily affected because of such cases. If we
presume that there are about 20 persons in each case
belonging to one or the other parties. we get a number of
about 64 crore. Interestingly, none of them would be in a
state of happiness on account of being linked to the
case. Inevitably. the criminal justice administration for
these people is a source of unhappiness.

Moreover, not more than 30 per cent people approach
the courts in India. There is a visible decline in civil
litigation, which suggests that a large number of people
in the country are living with unresolved conflicts. This
too dents the state of happiness in general.



Sub questions

Question Number : 76 Question Id : 1626532107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After reading this passage it can be inferred that this
passage is:

Options:

1 % Sarcastic

-  argumentative

= % Emotional

4 % Dogmatic

Question Number : 77 Question Id : 1626532108 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The author is trying to prove that:
Options:
laws in our country are becoming more regulatory
, w and penalizing.

many people in India abstain from going to courts.

law of the rule does not affect happiness of the
people.

there is a relationship between law. governance and
4 « happiness.

Question Number : 78 Question Id : 1626532109 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Match the words with their meaning.

a. emanate 1. discussion
b. deprivation 2. spring
¢. discourse 3. denial

Options:



a-2, b-1. ¢-3

=
®

5 o 82, b-3. ¢-1

a-3, b-1.¢-2

M
®

a-1, b-3, ¢-2

o
®

Question Number : 79 Question Id : 1626532110 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the effect of pending court cases on people
in India?
Options:
, = People are not bothered about them.

> u People blame each other for such cases.

- » People fight with each other.

4  People get tension and anxiety.

Question Number : 80 Question Id : 1626532111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which statement is NOT true according to the
passage?
Options:

We have about 3.3 crore cases pending in various
, % courts in the country.

Each case involves tension, anxiety and deprivation
- % to all those associated with it.

More than 30 per cent people approach the courts in
% « India.

The World Happiness Report (WHR) 2018, has
placed India at the 133rd place on the index of

4 % global happiness out of 156 countries.



eneral Hindi

Group Number : 5
Group Id: 162653105
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi

Section Id : 162653105

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653138
Question Shuffling Allowed : Yes

Question Id : 1626532112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81to 85)
Juestion Label - Comprehension



A &3 =1 sgETer & e IO T weal
% IeR S|

fe=er ATesh & TS 74T JIT & e =g
s 3 giaa &1 @& (1932) 3Rk gy &
grelr (1934) forget feam gt g&eT A
2| THED AeF ¥ a9y 33 THEFET g
ﬁm}ﬁ#%a‘ragd FG hiFd &
AASES ¥ WFEE g1 94 Hgedl § #I8F
=T AT UT| 37 S H THHT AEH FH
Sl &gl e S o forar g T v
TR Hifged # &5 g Fur 7@ g1 v
7 gaT $r 999 gdr § 3N Faw = Y
UNER & ¥ F&gd ohdT S §ehel 81 TH1E
% TF HT P Al [aAREl F THE FeT g

Sub questions

Question Number : 81 Question Id : 1626532113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TEdr des & 741 AT &as 9aa =Rar?

Options:

| % CIEASRIIUT #el

o o TEREARIOT s

LY
. AlHehHIE SH]
3w =

_ #ga9aT
4 % 3

Question Number : 82 Question Id : 1626532114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEHARTIOT A F ATew g-

Options:

3. !iE] 3 =



> % SO A
5 v THAEN AH

4 % FET ATCH

Question Number : 83 Question Id : 1626532115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
=gy & g &1 Yeprer AW #4727

Options:

% 1928
- % 1930
- % 1932

L v 1934

Question Number : 84 Question Id : 1626532116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eI H FE HETE # Aeded 399 87
Options:

A AT
1_.-_y’-:!

p/w BRGNS

S % STUART THEG

4 % UHAEGTE AT

Question Number : 85 Question Id : 1626532117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T He fohaedh! T &-
Options:

| % SEHERIOT P



%p?»rsfr

;-
5 FAFT THG

44-@%_{'?“”-

Question Id : 1626532112 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 85)
Cuesticon Label | Comprehension

A fedr =T seaTer & geR IO T gl
% 3ol eIl

faear dTcsh & T 4T HIS 41 T =g
e & #fEa &1 wEw (1932) 3k fig &
greir (1934) forgest feam giar a7 EaT aes
g THEN AcH ¥ a9y 3 GHEET a9
ﬁmﬁ#%a’rﬁgd FO ZiFd &
AASEg & §F< g1 S9H SRl =g Frpar
=T AT UT| 37 S H TR AEH F
St agl| F ST o forar g for TR
HIETT Tifged H 1% 75 T9uT 787 g1 TheT
# g7 Fr 599 24 g 3T Fm Fr qf9w
URER &7 § W& fhdT ST Ferel €1 THG
% T HT HI Heleh [SaRehl o Tehlhr gl gl

Sub questions

Question Number : 81 Question Id : 1626532113 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

fe=er Ales &1 F41 A Fua vorT &
Options:

| % TEAARIIUT &

> TEREARTOT T

THFAR FAT

=z ®



W CriCrd
4 ® 3

Question Number : 82 Question Id : 1626532114 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TEHARTIOT A F AeH &-

Options:

) !iﬁltl =
> % SO ACH

3 v HHET TS

4 % T ATCH

Question Number : 83 Question Id : 1626532115 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ez Fr 2l 7 TP v FT 82

Options:

% 1928
- % 1930
2 % 1932

L v 1934

Question Number : 84 Question Id : 1626532116 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
eI H TR HTe=F 1 Aeded 349 27

Options:

e &AT
1w =2

2.‘5’3j =

S % STUART THE



4 % THAEETE AT

Question Number : 85 Question Id : 1626532117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Sub-Section Number: 2
Sub-Section 1d: 162653139
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 1626532118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 88 Question Id : 1626532120 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 89 Question Id : 1626532121 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘T g R Fr T 7
Options:

1<.¢.3ﬂ'ﬁ-‘l'q"l?F=F

-
o RIEGEIEES

e I EEIEED

L, % ETYETER

Question Number : 89 Question Id : 1626532121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘FEou T IR Fr AT 82

Options:

| ®% SAfcETEH




-
o RIEGEISES

= o HAlddleh

4 % ETYETER

Question Number : 90 Question Id : 1626532122 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 97 Question Id : 1626532129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
‘T & faeH -

Options:

Question Number : 98 Question Id : 1626532130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TSEUT {THAUT F ORI 3T 8 &F T v e gem-

Options:
1. 3ellehld

> % HIhld
z #® Shid

, « T

Question Number : 98 Question Id : 1626532130 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TSguT H1FATT 7 5T T @ F v T e g

Options:
1. 3elehld

> % HIhld



Question Number : 99 Question Id : 1626532131 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Number : 100 Question Id : 1626532132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25
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Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 162653140
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1626532133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Attachment theory: "secure base" (a person who provides comfort and safety and allows the baby to explore the
environment) is called as:

Options:
1 * Sensitive pEl’lGd

- u Critical period

5  Bowlby term

4 % Erickson

Question Number : 101 Question Id : 1626532133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 102 Question Id : 1626532134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The primacy of National Curriculum Framework in curriculum development and reform is:
Options:

, « tomake curriculum inclusive and meaningful to children



- u tomake children thorough with the textbook

5 » teacher-centered learning

4 % to focus on socialisation of children

Question Number : 102 Question Id : 1626532134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 103 Question Id : 1626532135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The Indian system of education believes that education is:
Options:

, w training of human soul in pursuit of truth

- « acquiring knowledge

- » aschool for citizenship

4 % ameans fo earning a living

Question Number : 103 Question Id ;: 1626532135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST RN JUTe & He[ER, ReT T 32
Options:

| % TeT H W H ATET HTeHT ST FiRveor




5 T FTod LAl

5 ® SATETIGRAT T TTSeaT

4 % SHTGeRT 3T T TTer

Question Number : 104 Question Id : 1626532136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Name the theorist who stated that cognitive development is a process which occurs due to biological maturation and
interaction with the environment.

Options:
; % Vygotsky

o o Piaget

%z % Thorndike

4 % (Grossman

Question Number : 104 Question 1d : 1626532136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 105 Question Id ;: 1626532137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Since some grapes are purple, and all grapes are fruit, some fruits are purple. This type of reasoning is called:
Options:

, « deductive reasoning



- u Iinductive reasoning

- » analogical reasoning

4, = hypothetical reasoning

Question Number : 105 Question Id : 1626532137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 106 Question Id : 1626532138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The proponent of psycho-social theory of development is:

Options:
1 % Skinner

> % DBinet
= % Thorndike

4 « Erikson

Question Number : 106 Question Id : 1626532138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 107 Question Id : 1626532139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a specific stage of development in which certain types of behaviour take shape and get
molded for life? (In this stage, children are very vulnerable to injuries, and this stage is typically characterised by rapid
growth.)

Options:

, « Critical period

» = Sensory period

- #% Erickson

4 = Bowlby terms

Question Number : 107 Question Id : 1626532139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 108 Question Id : 1626532140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The different stages of moral development (stage in which actions are based on rules, stage in which actions are based
on selfishness, stage in which actions takeinto consideration the approval of others, Stage in which actions take into
consideration social norms) were given by:

Options:
, « Kohlberg

> % Freud
- % Erickson

4 = Piaget

Question Number : 108 Question Id : 1626532140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 109 Question Id : 1626532141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following works best for testing divergent thinking?

Options:
, = Multiple choice questions

- u Right or wrong question

5 # Close ended questions

4 « Open ended questions



Question Number : 109 Question Id : 1626532141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 110 Question Id : 1626532142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘Cognitive development stems from social interactions from guided learning within the zone of proximal development.’
This was stated by:

Options:
, & vygotsky

> w Piaget

5 % Dewey

4 % Montessori

Question Number : 110 Question Id : 1626532142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 111 Question Id : 1626532143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The method of right or wrong responses is also known as:
Options:

. w the method of average error

> « the method of constant stimuli

5 = experimental method

4 = survey method

Question Number : 111 Question 1d : 1626532143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 112 Question Id : 1626532144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How is pacing of instructions important in student learning?
Options:

, « Students are prevented from making mistakes

5 % I helps only weak students

- # Ithelps the teacher to complete the topic



4 % It motivates students to learn

Question Number : 112 Question Id : 1626532144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 113 Question Id ;: 1626532145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
If a teacher insist that students should give answers only from textbooks, it implies that:

Options:
, « the teachers are rigid

- % the students cannot think for themselves

5 » Students give answers that are not there in textbooks

4 = Wastage of time for students

Question Number : 113 Question 1d : 1626532145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 114 Question 1d : 1626532146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is an instructional tool that promotes inquisitiveness and creativity?

Options:
1 % Lecture method

> % Demonstration

5  Role play

4 % Observation

Question Number : 114 Question Id ;: 1626532146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 115 Question Id ;: 1626532147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who stated that learning CANNOT be separated from its social context?

Options:
, = Piaget

5 o Vygotsky

% % Bandura



4 u Chomsky

Question Number : 115 Question Id : 1626532147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 116 Question Id : 1626532148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Cognitive advances are made through social interactions. This tenet was given by:

Options:
1 % Goldstein

- % Watson
5  VygOtsky

4 % Pavlov

Question Number : 116 Question Id : 1626532148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 117 Question Id : 1626532149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following defines sociocultural theory of learning?

Options:
, « The idea that students’ environments play a role in their learning

> % The idea that a student learns social and cultural norms of others

- = Ihe impact that social and cultural norms have on the students

4 %
The idea that learning challenges students’ to learn about the culture and socio economic background of their peers

Question Number : 117 Question Id : 1626532149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 118 Question Id : 1626532150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
process can arouse and initiate the desired student behaviour.

Options:
1 « Motivation

> % Rewards



3 % Praise

4 % Punishment

Question Number : 118 Question Id : 1626532150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gfRar o & TS U9eR F JEF AR &feT R H Feg W Todr gl

Options:

| v RO

Question Number : 119 Question Id : 1626532151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A student derives satisfaction and pleasure from completing his work and making progress. This signifies that:

Options:
, = the student is extrinsically motivated

- « the student is intrinsically motivated

- » the student wants to please his parents

4 = the student wants to please his teachers

Question Number : 119 Question Id : 1626532151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 120 Question Id : 1626532152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The trial and error method of learning states that:
Options:

, = learning is insightful

-  leaming is incremental

5 w learning is indirect

4 = learning is not incremental

Question Number : 120 Question Id : 1626532152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Revisit allowed for view? : No
Revisit allowed for edit? : No

Break time: 0



Group Marks: 20

Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 162653107

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 162653141
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 1626532153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Unconscious desires, pleasure drive, forbidden wishes, where things go when they are purposefully forgotten is:

Options:
I Id
Ego

% % Erickson

Piaget

o
5
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Question Number : 122 Question 1d : 1626532154 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following are factors that affect personality?

Options:
, w» Family and culture

-  Heredity and environment

5 » Only environment

4 = Only heredity
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Question Number : 123 Question Id : 1626532155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By declaring education as a fundamental right. India has ensured constitutional provisions for providing free and
compulsory education to all the children between years of age.
Options:
1 % 8tol6

> % Tto18



s % Stol5

4 « 61014
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Correct Marks: 1 Wrong Marks: 0.25

After independence, the government had set up a National Committee on Women's Education in 1958, and it
recommended that female education should be at par with male education. In the year 1964, the was set up,
which largely talked about focusing on educating the girl child.

Options:
1 % Women Commission

> « Education Commission

- = Right to Women Education

4 = Education Policy For Girl Child
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a Strategy for equalization of educational opportunities?

Options:
, = Regional imbalances in the provision of educational facilities should be corrected

- u Education of gitls should be emphasised

- » Intensive efforts are needed to bring education to the backward classes

4 « Special education for special children’children
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Single Line Question Option : No Option Orientation : Vertical
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As per the recommendation of NPE -1968. should be initiated, irrespective of caste, creed, location or sex, for
all to have access to education of a comparable quality.

Options:



, w Curriculum System Studies

-  Common School System

% % Curriculum Studies for Schools

4 = Compulsory Curriculum Studies
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Distance education is any educational process in which all or most of the teaching is conducted by someone removed in
space and/or time from the learner, with the effect that all or most of the communication between the teachers and
learners is through an artificial medium, mainly

Options:

, « cither electronic or print

- = telephonic and virtual media

- » synchronous mode

4 % social media
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Question Number : 128 Question 1d : 1626532160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Encyclopedia America. adult education includes all experiences that help mature men and women to
acquire

Options:
, = Vvocational skills and understanding the world of work

- % value based education and vocational skills

5 o DEW knowledge. understanding. skills, attitudes, interests or values

4 % interest based and need based education
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Question Number : 129 Question Id : 1626532161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is NOT an educational benefit of diversity?
Options:

1 ®

Students involved in group discussions sharing viewpoints with diverse students have been shown to stimulate
discussion of multiple perspectives

o &

Students who interact with diverse peers both informally and within the classroom show the greatest engagement in
active thinking

g
Students lead to tokenism of the underrepresented and being a part of an underrepresented group on a campus can
produce social stigma

4 #
Individuals who are educated in diverse settings are far more likely to work and live in diverse environments
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Question Number : 130 Question Id : 1626532162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
concerns relative equality in terms of numbers and proportions of women and men, girls and boys, and is often
calculated as the ratio of female-to-male values for a given indicator.



Options:
, = Gender equality

-  Gender parity

- » Gender disparity

4 % Gender bias
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The 1995 (PDA) states that disabled children should be educated in integrated settings where possible.

Options:

, « Persons with Disability Act

- = People with Diverse Ability

- » People with Diversity Act

4 = People with Disability Act
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The term Special Need Education (SNE) has come into use as a replacement for the term . as the former one was
mainly understood to refer to the education of all those children and youth whose needs arise from disabilities or
learning difficulties.
Options:
1 % Education of Disabled

- « Special Education

5 % Segregated Education

4 % Integrated Education
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. wehreha e (Integrated Education)

Question Number : 133 Question Id : 1626532165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
refers to a process by which efforts are made to ensure equal opportunities for all, regardless of their background,
be it money, class, ethnicity, gender, race or whatever the index of diversity be. to enable full and active participation
in all aspects of life. including civic, social, economic, and political activities.

Options:
1 « Social inclusion

- % Social isolation

- = Social segregation

4 % Social exclusion
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Question Number : 134 Question Id : 1626532166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
on Special Needs Education (1994) emphasises that schools should accommodate all children regardless of their
physical, intellectual, social, emotional, linguistic or other conditions.
Options:
1 # National Trust Act



- % Rehabilitation Council of India Act
z « The Salamanca Statement and Framework for Action

4 # The National Policy on Education
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Question Number : 135 Question Id : 1626532167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
State whether or not you agree with the following statements.

Curriculum deals with goals and syllabus deals with objectives. Both can be achievable in term of all round
development of the child.

Options:

, « 1strongly agree with the statements

> # 1agree with the first statement

- = 1agree with the second statement

4 = lLstrongly disagree with the statements
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Question Number : 136 Question Id : 1626532168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

How can we assess whether or not a child has achieved the syllabus objectives?
Options:

, % By formative assessment

-  Through written test

- w Through oral test

4 = Through semester examination
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Question Number : 137 Question 1d : 1626532169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the most important in a curriculum for assessing students?

Options:
1 % Content

> % Methods

-  Continuous and comprehensive evaluation

4 % Use of media
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Correct Marks: 1 Wrong Marks: 0.25
What is required for any curriculum to meet global standards?

Options:
, w Updated knowledge

5 % Advanced pedagogy

z « Curriculum which fulfills the needs of the students

4 % Multimedia
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Who is the father of Param Computer?
Options:

Charles Babbage

B8

> w Marks Zukerberg

-  Dr Vijay Bhatkar

4 % Dr Abdul Kalam
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Question Number : 140 Question Id : 1626532172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

What is required for a smart classroom?

Options:

, = Computer with internet, LCD projector, screen

- # Laptop. internet connection, LCD, screen

5 % Smart board, e-learning software

4  Smart board system. trained teachers, effective methods of teaching and evaluation

Question Number : 140 Question Id : 1626532172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TATC FeT & &IT =47 39T+ 87
Options:

.\ $eTeE & AW Feued, LCD diaeex, Hhid

, % O9EN, ZETAE FAFe, LCD, B

, x FAE A5, $-afaAT Hread

, » T A fwes, aRifET R, Rieor iR geae &1 vemer e

subject Related

Group Number : 8
Group Id: 162653108
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 162653108
Section Number : 1



Section type: Online
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Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 1626532173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a technological barrier in communication?
Options:

, = Language of instruction

- u Costoftechnology

- % Iraining of teachers

4  Availability of electricity
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Question Number : 142 Question 1d : 1626532174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Why can’t we use web based learning for primary level?

Options:



, w Itrequires knowledge of technology

- u Primary students are too young to understand the technology

- % Internet use is not safe for kids

4  Use of technology in early ages is not safe for kid’s physical and mental health
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Question Number : 143 Question 1d : 1626532175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a source of computer virus?

Options:
, = Pendrive, CD, MP3

» % Mobile phone

-  Mail merge

4 % E- mail. Chat
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Correct Marks: 1 Wrong Marks: 0.25
Which of the following is useful for visually impaired students?

Options:
; w Vvideo clips

- % Presentations

5  lalking software

4 % Smart board
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Correct Marks: 1 Wrong Marks: 0.25
How can one motivate students to learn through Computer Assisted Instruction Programme?

Options:



.  Adding motivational frames
Adding animated pictures
Adding videos

Adding questions
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What are the advanced technological techniques of evaluation in today’s era?
Options:

1 + Online tests and immediate results

-, u Formative assessment techniques

- » Journal writing

, = Blogs on evaluation
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Correct Marks: 1 Wrong Marks: 0.25

Which option best describes formative assessment?
Options:
« A set of techniques teachers adopt

e o

- A learning partnership between teacher and student

z % Series of tests

4 = Grading of students
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Overall curriculum expectations are assessed in:

Options:



Assessment for learning

,_.
4

» Assessment of learning
Assessment as learning

Assessment in learning
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is main objective behind providing primary education in students’ mother tongue?

Options:
, w» To sustain regional language

- % Toavoid giving too much importance to English language

=  Tomake all concepts clear to students and help in transferring cultural and social values

4 = To follow the suggestions given by education commissions
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the role of a language teacher in achieving 21%' century skills among students?
Options:

, = Language trainer

> % Communicator
3 « Facilitator

4 % Instructor

Question Number : 150 Question Id : 1626532182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 1626532183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which type of intelligence is tested by oral and written examination?

Options:



. « Vverbal intelligence

- u Logical intelligence

- » Spatial intelligence

4 = Audio intelligence

Question Number : 151 Question Id ;: 1626532183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
At 3R BT ol garr & IR F1 9=war T2eTor B ST 82

Options:

Question Number : 152 Question Id : 1626532184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

When young children begin to learn standard grammar. they tend to over regularise it. What does this mean?
Options:

. w» They consistently use correct grammar in virtually every sentence

» % They excessively regulate or control what they say to the point that they become inhibited

=  They assume that common syntax rules apply in all situations

4 # They use correct grammar only in classrooms where they can receive help from a teacher

Question Number : 152 Question Id ;: 1626532184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 1626532185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The best time to learn a second language is:

Options:

, « early childhood

> u incollege

% % middle school

4 % high school

Question Number : 153 Question Id : 1626532185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 154 Question Id : 1626532186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Which of the given options is NOT a learning strategy?



Options:
.= Cognitive

- # Metacognitive

3 « Achievement

4 % Social/affective

Question Number : 154 Question Id : 1626532186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 1626532187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Constructive feedback to the learners helps in:

Options:
, = pointing out their mistakes so that they can improve

-  diagnosing problems and guide learners to improve

- » demotivating the learners so that they improve

4 = giving appropriate time and space to improve

Question Number : 155 Question Id : 1626532187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 1626532188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Using some of the aspects that are applicable to the previous language while learning a new one as part of the process of
understanding or learning the new language is called:

Options:
, = Overgeneralisation

-  language transfer

% % interference

4 # fossilisation

Question Number : 156 Question Id : 1626532188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The role of strategies on second language acquisition relates to:
Options:
1 % affective factors

-  cognitive factors

= % individual differences

4 # DPsychomotor factors

Question Number : 157 Question Id : 1626532189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 158 Question 1d : 1626532190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following technology can be used to teach mathematics in rural areas?
Options:

, = Magic slate, book, magic lantern, blackboard

5 R OHP. radio. slide rule video tape. television. calculator, computer, interactive board

5 o Paper money and coins, beans, Bears, buttons and other small items

4 = Clinometers, straws grouped by tens

Question Number : 158 Question 1d : 1626532190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 159 Question Id : 1626532191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Where can we get digital mathematics textbooks?
Options:

; = Open universities

> % Private universities
z « NCERT

4 w Library

Question Number : 159 Question Id : 1626532191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks: 1 Wrong Marks: 0.25



Which of the following are formative assessments for teaching learning mathematics?
Options:
, « Journal writing, role play, debate, group discussion

- % Unit test

- » Preliminary examination

4 R Oral test, written test

Question Number : 160 Question Id : 1626532192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 161 Question Id : 1626532193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a student centric approach of teaching mathematics?

Options:
1 % Demonstration

-  Math-lab approach

- u Discovery approach

4 % Inquiry teaching
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 162 Question Id : 1626532194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the disadvantage of Socratic method of teaching mathematics?

Options:



.« Itassumes that everyone knows nothing

- # It involves students discussions

5 w Itis easy to understand

4 = Students can exchange opinions and ideas
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Question Number : 163 Question Id : 1626532195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is about helping learners become global citizens with critical thinking skills, sensitivities and respect for the
natural environment, and pragmatism towards the socio-economic enviromment.

Options:
, w Citizenship education

- « Environmental education
- % Education for sensitisation

, w Pragmatic education
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Question Number : 164 Question Id : 1626532196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The curriculum of work experience, popularly known as was reorganised to introduce a rigour and systematic
gradation in the programme with the provision of direct participation of children in environment related fields, like
planting and murturing of trees. environmental sanitation, etc.

Options:
, = Environmental Consciousness Programme

-  Socially Useful Productive Work

- u Artof Healthy and Productive Living

4 #% Basic Education
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 165 Question Id : 1626532197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

EVS in the elementary education is visualized as an integrated subject area which draws upon insights from
Options:
, = Pphysical, chemical and biological sciences

- » history. geography and civics

2 o sciences, social studies and environmental education

4 = Dprotection and conservation studies
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Question Number : 166 Question Id : 1626532198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following statements is NOT true?

Options:

e

Environmental education encompasses a varied mix of subjects that makes it difficult to teach in the classroom and
complex to assess and evaluate.

oW

Environmental education aims at bringing about a change in the cognitive, affective and psychomotor behaviours of
children.

3%

Environmental education enables the development of self-confidence. positive attitudes and personal commitment
towards environmental protection



, w» Environmental education is an action-oriented. project centered and participatory process.
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Question Number : 167 Question Id : 1626532199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What should be the focus of teaching environmental sciences at primary level?

a. To wxplore and experience different things

b. To connect with natural and human made environment

c. To understand man’s dependence on the various components of environment

d. To plan and organize learning experiences that would incorporate many different forms of learning situations

Options:
1 % aandb

- % 8. bandc
5 « D.candd

4 % aandd
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Question Number : 168 Question Id : 1626532200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

teachers prepare the learners for wholesome social living by making them understand and analyse the subject
matter to imbibe some essential knowledge about their social environment.

Options:
, = Sociology
> « Social science

=z % Social work

4 % Environmental science
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Question Number : 169 Question Id : 1626532201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the major differences between social sciences and social studies?

a. Social science provides knowledge about human affairs while social studies provides insight into man and society

b. Social science represents an adult approach while social studies represents a child’s approach

¢. Social science provides guidance in selected learning portions while social studies discovers truths about human
relationships

Options:
1 +« aand b are correct but ¢ is not correct

> % ais correct but b and c are not correct
- % aand b are correct

4 % aand b are incorrect while c is correct
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Question Number : 170 Question Id : 1626532202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For teaching social studies. a teacher adopts play way method, project work, excursion and observation method. These
are approaches.
Options:
, w group directed

- % teacher directed

5 w peer directed

4 « learner directed

Question Number : 170 Question Id : 1626532202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 171 Question Id : 1626532203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following can be categorized as performing art?

Options:

, = Painting

- = Sculpture

3 o Dance

4 % Craft work
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why do schools need to pay attention to arts and drama subjects?
Options:

, = Ithelps student understand the importance of art and drama subject

» = ltremoves stage fear of students

5  Ithelps them discover their own abilities and potential

4 = Ithelps teachers engage students in different activities
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Question Number : 173 Question 1d : 1626532205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“The students performed a historical play.” This statement shows that:
Options:

, = thereis a correlation between arts and history

- = Sstudying history is important to perform arts

- u arts is helpful to study history

4 « This helps to develop cognitive and psycho motor abilities
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Question Number : 174 Question Id ;: 1626532206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following helps in improving flexibility, strength. balance and endurance among the students?

Options:
L W Yoga

> % Pranayam

=z % Meditation

4 w warm-up exercises
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Question Number : 175 Question Id : 1626532207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How can we motivate students to do daily exercise?

Options:

, = By showing them videos of doing exercise

- » By giving lectures on benefits of exercise
- » By taking interview of a doctor about health and excersise

4  BY exercising with them
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Correct Marks: 1 Wrong Marks: 0.25
State whether or not you agree with the following statements.

Science, geography. history, civics. environmental science and drawing are subjects that have have correlation with
gardening. They are helpful in stating importance and developing interest in gardening.

Options:

. « 1strongly agree with the statements

> w lagree with the statements

5 = 1 strongly disagree with the statements

4 = ldisagree with the statements
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

According to the Psychosexual Theory by Freud, the age of 12 years and above is referred to by which of these terms?
Options:

1 % Anal

> #% Phallic

o % Latency

4 « Genital
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Erickson’s theory differs from that of Freud because it lays emphasis on:
Options:

. « influence of society and culture on development

- u influence of genetic makeup of the individual on development

- » Influence of biological changes on development

, = Influence of physiological changes on development
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Correct Marks: 1 Wrong Marks: 0.25
Preference to perform tasks like eating, picking up an object. kicking a ball etc. using one side of the body is called as

Options:
1 % Cerebral collosum

- « Cerebral lateralisation

- u Cerebral palsy

4 % Cerebral cortex
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Which of the following body parts actually overshoots adult levels in childhood and then declines to adult levels later in
adulthood?

Options:

1 % The head and the brain

> % Themuscular system



= « The lymphoid system

4 % The skeletal system
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According to Vyvgotsky, development should be evaluated from the perspective of four interrelated levels interacting in
the child’s environment. Which of the following is NOT one of them?

Options:
; = Phylogenetic

- u Ontogenetic

5  Sociogenetic

4 % Microgenetic
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Recalling items from the same category together in a recall task is referred to as:
Options:

. categorising

Do

-  Clustering



s w combining

4 = classifying
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Which of the following is appropriate option?

Options:

. « School location should be safe and protected from any hazard

- % School building should be in proper shape so that principal can pay attention to all classes

- u Classrooms should be big and proper ventilation should be seen

4 # School premises should have been surrounded by many trees
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When should school renovation be done?
Options:

= During recess

- % Before the start of school
= % After the end of school

4 « During vacations
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What are the hazards of keeping chemicals in the open in science labs?

Options:



, w» Iltmay cause practical arrangement problems for teachers

-  ltmay come in contact with air and harm students by reacting with air

- » ltmay get mixed with other chemicals

4 = ltmay cause a financial loss to the school
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How can we ensure safety of students. when it comes to drinking water?

Options:
; = By telling them to bring their own sterilised water from home

- w By cleaning the drinking water area

5 » BY cleaning the water tanks from time to time

4  BY using water filters in schools
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How will you protect students from natural disasters?

Options:
, » By giving them books to read about disaster management

- « By organising mock drill practices

- = BY keeping school safe from disasters

4 = BY invelving parents in such prevention activities
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How can we protect students from strangers?



Options:
, = By ensuring that strangers are given valid gate pass.

- # By using CCTV cameras

5 w BY restricting entry of strangers

4 By making students aware of the threats of strangers
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Psychologically. balances the practical and intellectual part of education. It helps develop skills. values and
dignity for work and also. children can apply their minds to something constructive/productive.

Options:

1 % work environment

> o work education
% % work culture

4 = Wwork experience
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Which of the following is NOT a function that a teacher teaching work education in school is expected to perform?

Options:
, = Prepare students for involvement in activities

-  Observe and evaluate students for behavioral change

I =
Explain the concept, importance and relevance of related areas and implications of personal and social development

4 = Select activities based on the principles given in the guidelines
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Nutrition education, health education, population education, culture and recreation, value development. media and mass
communication. information technology, consumer wducation and environment are the core areas of at the
secondary school stage of CBSE curriculum.

Options:
1 « work education

> % social sciences
=z % environmental education

4 % value education
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Teachers® self-perceptions of their own teaching effectiveness is known as teachers’
Options:

1 % self-confidence

> # Sself-respect

=  Self-concept



4 % self-criticism
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What are the principles of in-service education?

An in-service programme should provide for keeping abreast with research and advances in education
An in-service programme would not be most effective if not planned and initiated cooperatively

All school personnel do not necessarily need in-service education

Improving the quality of instruction is the immediate and long range objective of in-service education.

oo

Options:
| % d.c.and b

> % 8 ¢andd
5 % a.b,andc

4 v 8.bandd
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Why is parent and community engagement in school important?
Options:

. « Towork together to maximise student learning

- % Todeliver powerful outcomes for the school

= » Toreduce teachers’ work load collectively

4 # Toimprove students’ academic achievement
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PTA is formed to perform distinct functions. They are:

raising money to help both the running and the activities of the school

explaining the roles of the school to the community

suggesting improvement in discipline and moral standards of the schools

putting forth parents’ points of view to the teachers concerning academic modifications and curriculum reforms

2

Options:
1 % aandd

> % candb

5 % a.bandd

4 v 2 bandc

Question Number : 195 Question Id : 1626532227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HfFrsas-Retes 7 (FET) & 7oA GATvad FRT B B & o Far S 8 F E

a. gz & gaw w7 & e A afafRfst @9 & wErmer F v ow sEm F v

b. FHETT & e Rgzmera #r siffwit & sare == & v

c. Tl # FJAEA HR Afde Adel W U # A & & o0

d. diféves Feitus AR TeT=d GuR & HEY H et H HHAEE FoAgY TRCHUT & F oT

Options:

1_$;aa-ﬁTd
g_ﬁca'ﬁTb
. % a b3Rd

4_ﬁ,a,b3-ﬂTc



Question Number : 196 Question Id : 1626532228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The critical managerial functions of a modern age class teacher in elementary education are mainly:
Options:

, = administration, planning, personnel management

- u financial management, control and direction

- % Supervision. monitoring and support

4 « information management and communication, planning and administration
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The primary focus of the classroom teacher is to:

a. plan and prepare to promote students to the next grade

b. get involved in critical reflection to improve knowledge and skills to effectively engage students and improve their
learning

c. undertake other duties in addition to their rostered teaching duties

Options:
1 % aand b are correct

> « b and c are correct

- % aand c are not correct



4 % 8,b,and c are correct
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The capabilities of teachers are measured against certain generic parameters, such as. quality of performance,
communication skills, sincerity and devotion to duty, initiative, creativity, resourcefulness. willingness to take on
responsibility and leadership qualities.

These are essential for of teachers.
Options:
, = academic management

-  capacity building

s ® pEi‘SGﬂﬂEl management

4 = personality development
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How do schools foster successful parent involvement?

Options:

, « BY improving communication. workshops for parents and parent-school collaborations

- w By meeting with parents and assessing their needs and expectations

- # BY helping parents solve problems related to their child through counseling

, = By celebrating parents day at school to make them aware of school culture
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Ensuring timely access to information, using effective communications tools that address various family structures and
are translated into languages that parents/families understand. are major prerequisites to ensure:

Options:
1 #% collaboration with other educational institutions

> u family-friendly design of policies and laws

-  more engagements of parents. families, and communities in education

, w Dprofessional growth of teachers and school management
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